EARAROBEEIERT — 2 N— IBISH —F

2015598218 (B) 9EIEH4H

mA 3 A V5% B R
[A&4£] 17 :200,000" ~ 23#%&:50,000"  33%&:25,000M”  43%&:15000MH .~ 57 :10,000
B B BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
NN . IR E 147, ~6-5- . - WARE (SH)
1155 EXW il by DAY 47 o " 1(4_7)1 6-6-5-2 | 41.1 1 (115132) I%Wa‘é&ﬁ
R TAANAN B:ixy XZXH8— J—HrTy—LA
TN LHRFE 147, === . - NNHBE (BH)
2 | IN=2IN=2N=2 N 56.0 1(14/72)2 ot 418 s ?_718) B E
R:T7TaT15—T1>9 BIXFAT> Il #Eth
S N KFFARE : ~5-5- - MBI ()
3111|793 >vavruz #0550 RS IR R 2 | me
R:gvZ2v3AY BFAMFYR N2 e
= 3 BRAEARE : 35 = BBEESR (BH)
4 4|71 — N2k 4 8 a5 1.(428).0 4-3-3-4 | 42.4 5 (4_877) el
R:TSATLXEM L B bOEHILIILF— FUIS NS
e EilIE=GIN 149, -3-4- . - WARE (SH)
5 o | MILIS Ky — 47 an 1(459)1 3-3-4-6 | 43.4 6 ;1:365) E;lllﬂﬁﬁ?—
R:7V%tx B:HYIIVY J—HrTr—LA
5= HEED :49. -1-1- 2| - RER= (EH)
. : TYLFL TP R 4 6 gt 1(429)5 1-1-1-3 | 44.2 4 (4_527) ﬁ?k%&i‘a
LA LINT Ry TR BNAX—2 RIS
® 1 —F—@EBlIEf
1T=7r= 6,3,2,4,1,5
23=5"= 6,3,(2,4),1,5
Ja=7= 6,3,4,2,(1,5)
43—+ — 3,5,6,4,1,2
[ /N
B 5 200 714K 3-5 300M B E 3-5 1,070M &R 1-3-5 720M
B B 5 200M =5 190H B H ) 1,960M 3B Sadml 3,540
3 350M 1-3 250M
ABTICOVWTRDTEEERROODE, IHRBLEEL,




